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SN 2HIS
M s HESENHYH 24
el RIS BFETME L FONKE 2Y (cHol: 12
SA - B - GI(3H) - NISAIR - BAS Ol &k e fimE==l
—QIRA H=D| 33,0003 1CH+ 128 3%
—1,28 3D 32,0003 =20+ 122 768
—QIRA SAPD| 110,000 »2CH = 12& 2,640
—olal BI1HE))
40,9002 *1CH* 122 491
ozzIgY| 3,43
— 21| Al AL 99,00021%1284 1,188
—1Z BEA HIG |1zl
9,300 4+ 12& 447
—&D|erE el 150,000« 12& 1,800
02 252l 6,176 6,701 2525
Oolae sS4z 5,500 x 10 &+ 12 66
OCIgH4Y At8= 40,0002« 12& 480
O ME == 90,0002 +7CH 630
O#E=XHH =l 3,000
Oges e 7Ll 2,000
401 Al HIZL 20 2,000 2,000
01 Al&Hl 2,000 2,000
OF0URXs Tz Al HAl Sl 2,000
405 XHoHESHI 1,350 16, 160 214,810
01 &ML 2EFSHI 1,350 16,160 214,810
OAMSA WaD 750
OF0IXE ZZ A Al
200,000 *34 600
folisSdl 2= 29 22 23,521 22,941 580
101 @I244| 21,511 20,987 524
M IIZHH2ENSES 21,511 20,987 524
Ogr ol4y| 21,013
—olAd| 90,8003 x2H 83 15,073
- 3= 90,8003 x2H 21! 3,814
—AZREZ 18,887,000 *4. 5% 850
—0AAREZ 18,887,000 *3.545% 670
—LoEIRARES
670,000&*12.81% 86
—1EEE 18,887,000 *1.75% 331
—MHEE 18,887,0002! * 1% 189
OgSE 2tAal| 3,000 x2H +83 498
206 M= H| 2,010 1,954 5
01 M=l 2,010 1,954 5
oYz 35,000 *0. 15 £ 25 *1663] 1,743
OYgd=E3 100
OerMEHze|| 167
—257 2l 2,000 2 +832 *1/3 11
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